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Stupeň a typ vzdělávání
Základní vzdělávání – druhý stupeň
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37 kB

Výrazy – 8. třída
1.  Zjednodušte:
     (a + 3) . (a – 4) + (a – 2) . (a – 3) =
     (a – 2) . (a + 5) + (a + 3) . (a + 4) =
     (a – 4) . (a – 3) – (a + 2) . (a + 5) = 
     (a + 3) . (a + 5) – (a – 2) . (a – 4) =
     (4a2 – 8a + 12) : 4 =
     (6a3 – 3a2 – 9a) : 3a =
     (5a + 10b – 20c) : 5 =
   2. Určete hodnotu výrazu pro:  a = 1, b = -2, c = -3

     a2 + b2 + c2 =
     a2 – 3 . (a – c) =
     2a – 3b + 4c =
     (a – b) . (b – c) =
     (a – b + c) 2 =
     2a + 3b - c2 =
2.  Upravte podle vzorce:

     (a + 2) 2 =
     (a – 3) 2 =
     a2 – 16 =
     (3a + 4b) 2 =
     (2a – 7b) 2 =
     4a2 – 25b2 =
     a2 + 8a + 16 =
     a2 – 2a + 1 =
     (a – 9) . (a + 9) =
     4a2 + 16ab + 16b2 =
     9a2 – 30ab + 25b2 =
     (3a – 7b) . (3a + 7b) =
3.  Upravte vytýkáním

     3a + 6b – 9c =
     5a – 10a2 + 15a3 =
     7a2 + 21a3 + 35a4 =
     a . (b + 3) – b . (b + 3) =
     b . (a – 2) – a + 2 =
     ax + ay – bx –by =
